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184 E 31, 511 0.4| 505,020 2.4 9,528 7.3 1.89] 8,556 5,90 1.6/
194 31,615 0.3| 516,224 2.2 9,268 -2.7° 1.80] 8,206 -4.1 1.56
205 E 31, 652 0.1] 522,151 1.1 8,159 -12.0: 1.56| 8,555 4.2 1.61
Q15 E 31,346: -1.0( 518,121 -0.8| 7,729. -5.3 1.49| 7,325: -14.4: 1.39
225 E 30,871: -1.5| 530, 303 2.4/ 8,513 10.1. 1.61 7,458 1.8 1.39
21/4~6| 31,6600 -0.2( 516,172 -1.7| 12,175 -8.3: 2.36| 10,323 1.0; 1.96
21/7~9| 31,575 -0.4| 518,503 -1.2| 6,781 -0.8 1.31 6,582 -13.5: 1.25
21/10~12| 31,139: -1.3| 518,848 -0.8| 6,092 -9.6: 1.17| 6,192 -13.1. 1.18
22/1~3| 31,0111 -1.9/ 518,960 0.7| 5,868 1.5 1.13| 6,204 -33.0: 1.18
22/4~6| 31,028 -2.0[ 525,918 1.9] 12,743 4.7 2.42) 9,511 -7.9 1.78
22/7~9| 30,918 -2.1| 529 135 2.1 7,164 b.6: 1.35 7,013 6.6 1.31
22/10~12| 30,770 -1.2| 532,917 2.7( 7,034 15.5 1.32| 6,559 5,90 1.22
23/1~3| 30,769: -0.8| 533,244 2.8 7,113 21.2° 1.33] 6,749 8.8 1.25
23/4~6| 30,8260 -0.7| 537,356 2.2 12,905 1.3: 2.40[ 11,0660 16.3 2.02
22 4 A 31,0130 -2.1| 522,589 1.9] 19, 206 7.4 3.68| 15,562 -10.3: 2.89
5H 31,032: -1.9| 526,515 1.8] 10,510: -8.5: 2.00( 6,494 -6.8 1.22
6 A 31,0400 -2.0( 528,649 2.1 8,512 18.8 1.61 6,478 -2.7 1.21
7R 31,038; -2.0( 529,007 2.2 1,727, 13.7 1.46| 17,433 3.9 1.39
8 A 30,990: -2.2| 529,167 2.0{ 6,801 -2.7 1.29] 6,590 5.4 1.23
9A 30,725 -2.1| 529,230 2.0 6,963 6.2 1.32| 7,016: 10.7¢ 1.31
10A 30,734; -1.8| 532,093 2.6/ 7,980 8.5 1.50] 8,029 5.7 1.49
1A 30,8120 -0.9| 533,168 2.7( 7,094 23.3 1.33] 6,053 9.4 1.12
12H 30,765 -0.8| 533,489 2.8/ 6,028 16.6. 1.13] 5,596 2.7 1.04
231 A 30,7531 -0.8| 533, 301 2.8 71,2620 12.0. 1.36| 7,149 7.6 1.32
2R 30,787: -0.7| 533,521 2.7f 6,468 27.1 1.21 5,996 15.6. 1.11
3 A 30,768 -0.8] 532,909 2.7 71,6100 26.2 1.43] 7,102 4.7 1.32
23 4 A 30,825 -0.6| 535,492 2.5 20,459 6.5 3.82| 17,826: 14.5¢ 3.22
5AH 30,828 -0.7| 537,898 2.2 10,2900 -2.1 1.91 8,087 24.5 1.48
6 A 30,825 -0.7| 538,677 1.9 7,966: -6.4: 1.48] 7,284 12.4 1.33
7R
8 A
9 A
108
118
128
2441 A
2A8
3 A

1 REE. NFEHOREFATEHTH D,
2 QOFHAOHEFARBRETHD.
WMBER=0Q/Q0x100 F‘LrE=8/(2+@) x100




BEH|@D S5 ® @ ©)
SHERREHH VIEZHEY |ZREEAE 2t
©® f& B (HEED) (BEARR) (ERD) =
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FE wEE = = R % =
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18FE 1817 2.90 9.21 2,737 -3.5 32.5] 2,1200 -5.7 9,252 -7.9: 28.7| 1.8
19%E 820 4.2, 10.0] 2,638 -3.6: 31.8| 2,132 0.6 9,399 1.6: 29.4 1.8
05 E 1,346: 64.1: 15.7] 2,969 12.6: 31.5| 2,428 13.9 9, 757 3.8:28.2| 1.8
yAK: 353 1,102: -18.1: 15.0] 2,858 -3.8 28.7| 2,571 6.1 13,574 39.1: 31.6| 2.6
225 E 788 -28.5: 10.6] 2,515 -12.0. 24.8| 2,142 -16.9| 10,253. -24.5 25.3] 1.9
21/4~6 | 1,777 64.7 17.2| 4,196: 38.6 37.6/ 3,659 71.5 15,859 82.3: 33.7| 3.0
21/7 ~9 938 7.2 14.3] 2,582 10.2: 27.3| 2,503 20.1| 15,085 59.2: 34.2| 2.8
21/10~12 943 -9.8 15.2| 2,347 1.8 26.9] 2,232 16.0[ 12,6527 39.9: 31.3]| 2.4
22/1~3 751 -68.5 12. 1] 2,306: -45.1. 21.8| 1,913: -46.4| 10,824 -9.0: 27.2| 2.0
22/4~6| 1,012 -43.0 10.6] 3,331 -20.6 28.8| 2,586 -29.3| 10,699 -32.5 24.1| 2.0
22/7 ~9 8571 -8.6 12.2] 2,431: -5.9 24.4| 2,238 -10.6| 11,2581 -25.4: 27.1| 2.1
22/10~12 665 -29.5 10.1] 2,131i -9.2: 24.8| 1,908: -14.5 9,965: -20.5: 26.4| 1.8
23/1~3 620 -17.5 9.2] 2,169; -5.9 20.6/ 1,834 -4.1 9,090 -16.0: 24.1| 1.7
23/4~6| 1,269: 25.4 11.5] 3,286: -1.3 30.2| 2,463 -4.8 9,506i -11.2: 23.0 1.7
2% 4 R 1,788 -42.2: 11.5] 4,636: -24.5: 33.5| 2,931: -33.3| 10,578 -31.3: 23.5| 2.0
5H 615 -35.3: 9.5] 2,957 -15.8 28.5( 2,539: -30.6| 10, 331 -34.7: 23.3| 1.9
6 A 633 -b0.7: 9.8] 2,399: -18.3: 22.9| 2,289: -21.7| 11,188 -31.6: 25.5( 2.1
7R 941 1.8 12.7) 2,492: -13.5: 25.4] 2,379 -19.7( 11,377 -29.5 26.9| 2.1
8 A 823: 10.0: 12.5] 2,308: -4.1 24.0( 2,229: -1.8| 11,447 -23.7: 21.8| 2.1
9 A 808: -29.3: 11.5] 2,492 1.3 23.9| 2,107 -7.4| 10,951 -22.5: 26.7| 2.0
10R 769 -27.0: 9.6 2,565 -14.0. 25.7| 1,877 -22.1| 10,226: -23.3 25.2| 1.9
118 b83: -36.4. 9.6] 2,154: -2.00 24.3| 2,017: -1.0{ 10,133} -17.3: 26.0[ 1.9
12H 642: -25.3. 11.5] 1,674 -10.0: 24.0( 1,831: -18.7 9,636i -20.5: 26.8] 1.8
23%1 R 688 -22.1. 9.6] 2,276i -14.8. 22.4| 1,741 -10.7 9,4377 -17.6: 26.1| 1.7
2R 571 1.4 9.6] 2,032 1.8 20.0| 1,852 -b.7 8,936i -16.6: 24.0 1.6
3 A 594; -28.7 8.4] 2,200: -2.2: 19.5[ 1,910 4.6 8,808 -13.7:22.3| 1.6
23524 R 1,734 -3.0i 9.7 4,362 -5.9: 33.8| 2,369 -19.2 8,810i -16.7: 21.0| 1.6
5H 1,276 107.5: 15.8] 2,835 -4.1: 28.8| 2,753 8.4 9, 605 -7.0. 23.3| 1.8
6 A 797 25.9: 10.9] 2,662: 11.0 26.9] 2,266: -1.0{ 10,102 -9.7:24.9| 1.8
7R
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